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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is

given As!

[\ is the radioactive decay constant]

Options :
) —de M

2. he™M
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In Young's double slit experiment, if the source of light changes from orange to blue then :

Options :
: the intensity of the minima will increase.
, the distance between consecutive fringes will increase.

3 the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

| BAFRY BT Seod Besproad,

| 3BRDNS DAY SHDT ©03TR) Bepridds.

; BRRWNS TNY DTS ©OBTRY ﬁ&%d}@dmr‘b‘é}d.

. FOTRYT 393 L300 ﬁ:ﬂeﬁcﬁb L 0IPTVIR.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The relative permittivity of distilled water is 81. The velocity of light in it will be :
(Given p, =1)

Options:

, 3.33x107 m/s
, 4.33x107 m/s
, 5.33x107 m/s

, 2.33x107 m/s
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
%, Q9T Q0 mﬁeg AR devdotn 81 und, ©ToY W¢es denay :

(e =1)

Options:
107
, 3.33x10” m/s

107

, 4.33X10" m/s
107

3 0.33x10” m/s

, 2.33x107 m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R=100Q
N WW
100VT T C=1pF

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 (1. The time taken for the capacitor to be charged to get 50 Vis :

[Take In 2=0.69]
Options :

;. 0.69x107 %5

, 0.30x 10" *g
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3 1.44x10 %5

4 3.33x10 %5

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R=100{
N WW
100V+ 1 C=1uF

C=1uF ahis GROEaSay, Ges R=1000 dact aoE 100 pect tREOR HomF AT
UsY H020¢ 0V i Arbmsdgmier Lemmd Rog) :

[In2=0.69 Q0% éﬁcﬁa&a%‘ij
Options :
;. 0.69x10~%s

, 0.30x10" "3
3 1.44x10 %5
4 3.33x10 %5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 007 H inductor and a 12 () resistor are connected in series to a 220 V, 50 Hz ac source.

The approximate current in the circuit and the phase angle between current and source

22
voltage are respectively. [Take 7 as 7]

Options :

8.8 A and tan_l[%)

1.

0.88 A and tan ! [EJ
2. 6

88 A and tan_l[%)

3.

1( 6
8.8 A and tan aaile
an [11)

4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
007H 08 03 120 deegsriva, 220V, 50 Hz Toderod we08, #ordoq Romir Ad
OMEIRN WORVT AMFLMT W8 I QAT GENT T AORIEN
AORTR :
Options :

11

88 A B tan_l(z)
1.
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0.88 A 3 tan_l(%}

8.8 A D tan_l(EJ
4, - 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A light cylindrical vessel is kept on a horizontal surface. Area of base is A. A hole of cross-
sectional area ‘a’ is made just at its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid is (a << A) :

Options :
d

1. A
2a

2. A
A

3. 2a Qcollegedunias



4. None of these

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
In the given figure, a battery of emf E is connected across a conductor PQ of length ' and

different area of cross-sections having radii r, and 1, (r, <,).

=
"

——
Ry

E

-~

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

> Electron current decreases.
3 Electric field decreases.

" All of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumas
||||| 's largest Student Review Platform



AAET UERY Dem. B 50d mptoteoniy, 0g 7 B & n B 1, <n) @
05e0 03¢0 BT DAcors s PQ 1 ROTF AL

Al
I’ v/

E K
Wy P aod Q i 0N RO, 603% R,

Options:

QETAT WOWSEN TesPTOITI
1. © =

‘&Eﬁi’%&&’ TR0 FROITMS
2. =

; SMavicy gfg@ ﬁ@fbomm:id

\ ST

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of

dielectric constant K. The potential difference across the capacitors will now be :

Options:
V
1. K
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)

GGG

K| 3K XK
<—d—><—2d->¢—3d->
Options:
25 KEDA
1. 6 d

15 KegA
, 34 d

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
o KEDE{
1 6 d

15 KegA

15 KepA

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle starts executing simple harmonic motion (SHM) of amplitude ‘a’ and total energy
3E
E. Atany mstant, its kinetic energy is I then its displacement Y/ is given by :

Options : Qcollegedunias



y=a
2 2

g B3
3, 2
. y=a

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
Y= —
o2
y = d
2. 2
_av3
3. 4 2
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical tennis balls each having mass ‘m’ and charge ‘q" are suspended from a fixed
point by threads of length ‘T'. What is the equilibrium separation when each thread makes a

small angle ‘Y’ with the vertical ?

Options :
([ gr Y8
: 2w€0m2g
(g1 Y8
, 2megmg
(g1 YA
; 2megmg
q2 12 %
Y713 2 2
4. TEO™- &

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic

gas. The temperature of the gas during the process A — Band C - D are T; and T,
(T, > T,) respectively.

P

4

5P, -+

e

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.

Options :
. Wee+Wpa >0

, Was<Wep

3 Was=Wnpc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

N T/ﬂ.TBE+E’1|J]3A >

, Wap<Wcp

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cis :

Options :
1. 3 min.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
61°C ot 59°C 1 Somried WO 4 DT FehdaEd. ORTT NFEw 30

SNGY, IR 51°C dod 49°C 1t Fomerien cvas RO :

Options :

. BmasE
, 4 DN
. 6 DN
o B ipmsn

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure

with mean kinetic energy 2107 | per molecule is :
Options :

. DB X10H

, 1.5% 10

3 33104

4 16310%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B9 weoane 2x1077] R BROOTR 207 G’ $Tdr wRog 300K DYNENVICY
pEEAlEAR N clol| TROOT weny ﬁoa%o:m :

Options :
. DB X10H

, 1.5x 1011
3 3104

4 1630

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegedunias



Assertion A:  If A, B, C, D are four points on a semi-circular arc with centre at ‘0" such

—

that |AB| = ‘BC| = ‘CD , then

—_— — - - —3 —

AB + AC + AD = 4A0 + 0B + OC

Reason R:  Polygon law of vector addition yields

—_ = - - —

AB +BC + CD = AD =2A0

B C

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :
Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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|AB| = \Bc\ |CD| STAT00T AB + AC + AD = 4A0 + OB + OC
mosR:  wEghmeded 208 R050Rd RobadY AB + BC + CD = AD = 240
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A D
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Options :
1 A m@ R »0@ER A0 ab:ai_)p R 20003 A R 300300 2=30B030NE
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, A R0 9T ©3T R 30 2

, A B0 9 ©TT R %0 20

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters

lying on its plane ? Given M is the mass of the larger disc. (MI stands for moment of inertia)

A

Options :
| 2RZ o

5 R2 : 12

3 OR% . 14

4 215 R%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1 2RZ% 12

2. Rz 3 r2
3 2R% - 14
4 21t . R

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

;. (@)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
, @)-(iii), (b)-(iv), (c)-(i1), (d)-(1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)
5, (@)-(i), (b)-(ii), (c)-(i), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Three objects A, Band C are kept in a straight line on a frictionless horizontal surface, The
masses of A, Band Care m, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit. Thereafter B makes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options :

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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NOWERMIL, o0y WO wodk Xo¥dedond PEiAT, Cob Lodd i :

A B C
m| 2m| |2m
Options :
, 6m/s
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aball is thrown up with a certain velocity so that it reaches a height 'h'. Find the ratio of the

h
two different times of the ball reaching 5 in both the directions,

Options :

V3 -2
. N3 +A2

3 =1
, B3 +1

w
W=

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegedunias
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Options :

V3 -2
. N3 +A2

>

]

N
&
4
p—

w
| =

N

s V241

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A:  If in five complete rotations of the circular scale, the distance travelled on
main scale of the screw gauge is > mm and there are 50 total divisions on

circular scale, then least count is 0.001 cm.

Pitch
Total divisions on circular scale

Reason R : Least Count =

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

Qcollegedumas
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: Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct and R is NOT the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
293 A: %00 :ireéﬁe&si J deodd aRREg 50 RN 3 Yoo Feod mss@

b TROOF méiﬁ@mi SNATT, 93T AR mm@ Smm mcm&
zﬁ@mgd. Tomas ﬁé’a&g 993 0.001 em ejrb'éd.

0
33 seddd L R

2% R: R 68 =

Deds ﬁe@?%omq d@&&ob@pi} FEAN AN wgdaﬁabq AR oM c:m%én@od Eﬁof% 204 :

Options :

1

2

; A 30 <33 R televa}

. A J00HY =338 R 30O,

A B R Q0L A0 3D R A i1 ROOIRT NRTE.

A W3 R Q0@ 30 $38 R, A I BOOSRE QRCBODY.
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Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation 8 R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘2" is .

[Given : The two planets are fixed in their position]

-
-

8R
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In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 x 10 2 A/m?

and moment of inertia 5% 106 kg m”. Ifit performs 10 complete oscillations in 5 seconds
then the magnitude of the magnetic field is mT. [Take 72 as 9.83]
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Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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1

Question Type : SA
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mosted dodmed)  mT. [Take vas 983]
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A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross
section 1070 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

oung’s modulus of rubber=05x10° N/m?
&
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Show Word Count : Yes
Answers Type : Equal
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A transistor is connected in common emitter circuit configuration, the collector supply voltage
is 10 V and the voltage drop across a resistor of 1000 € in the collector circuitis 0.6 V. If the
current gain factor (B) 1s 24, then the base currentis  pA.  (Round off to the
Nearest Integer)
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Show Word Count : Yes

Answers Type : Equal
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ERAROROT, IR, WAEFE OB wﬂmg RoTIF AT, RONBE ATWTRT R
10V 23 "onms HoBOTYWE 1000 () TReging VAT AP 06V 6T, TmT
ROFTR08) (B) 24 ©TT, SRTID TpwdER) ___ pA. (D00 TREF0ITY)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

-14 14
10.8><210 and 1y = 145 + 18x10
A

m =12+ Az

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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SHHHMOE 0, SO0 VTGO, TEWHROT n, SO0 RO GITLAONM AORRND

-14
108 x 10 s
AZ =L

(gmPbitod) n, M) n, 1iEh ¥ Z00moET A dRoOR ng =12+

14
ny =145+ Lb Xhio 308 Rowoal, wogoided ne g olmedele Te BReRcid

G0 WY mNEod MR JeedeREC dvtd dtomoady) nm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle of mass 9.1 x 10! ke travels in a medium with a speed of 10° m/s and a photon
of a radiation of linear momentum 1027 kg m/s travels in vacuum. The wavelength of

photon i times the wavelength of the particle.

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SR Lowvd 91 x10~% kg T80 Feesfpoch 100m/s eridd) BORED ) A I
200 Faced Sediod et 107V kgm/s ) H0RID oy DR droc
300MOICH BT

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 pF is first charged and later connected with resistor ‘R'. If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of 'R’ should
be (L

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes ,
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LOT) DRTETHL ARBO0D KOEAO 08 30 ms T3 € I, 200 uF TROTI
mtﬁa’@’,@ocﬁq AT Ydenedn 3hmod el ‘R &RobR RomsrRoND moUsR
DO Geledy QETTLL TRTOOD TUDYARODN AHORE SRODEEETRN AJE ERTRITH
mmad R b 0

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In Boht's atomic model, the electron is assumed to revolve in a circular orbit of radius 0.5 A

If the speed of electron is 22 10° m/s, then the current associated with the electron will be

2
X102 mA. [Take 7 as el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal Qcomgeduma



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

307 BRB00RE, ’awm 3&:5 05 A g 7 U ﬁi ) wéa N AVIRATHE!
L f H
Al

'am'fw ena) 2’)><106 m/s 30, SR 288 IEFOMIOT TWE

Y

2
x10~2 mA, [r=~ ot eVl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Consider an electrical circuit containing a two way switch S', Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 ()
resistor immediately after T,isconnected to Tyis V. (Round off to the Nearest
Integer)

R=60 T

[ 1

2, .T3
S1T,
L

q |0

3()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

34

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The amplitude of upper and lower side bands of AM. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

b a
5 V amplitude are EV and 10V respectively. Then the value of b is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText Qﬁﬁ!’ﬁ%ﬁﬂﬂﬂli



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1121 MHz a8, n’@ﬁe Q5 15V 9008 o8 ﬁoﬂféwsﬁq\* 5V TRo0S 7.7 kHz ﬂe@‘

)

goonteoln e mméeie&? SRAmN, W0 ARRGEF 3oona dHedF e #Na

3
<

; T B o B ; NTTR
AE WOETY IO Fhm —V B3 ﬁV e el 3 eidom .

10
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
Section Id : 864351826
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
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Sub-Section Id : 8643511053

Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, p=12(,
y=90°. The crystal system of the substance is :

Options :

1. Triclinic
I—Iexagonal
2.

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WO a@wa PREERIT TEOND LeNS. a=25,b=3.0,c=40, a=%", p=120°, y=%".
AR 348 ol

Options:

| $0Decd

, SWFEDICOD

, Aebudedraseod
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4. RREEVDOD

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I :  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom,

Statement I Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty
principle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
1. Both statement I and statement II are true.
, Both statement I and statement II are false.

3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R STR aﬁe@in@mi NEBOONT,

Bee8 11 DUOHRETS Jorvea® HlAceY BRAT ITHROM Jedeod dackda)
WRORTRT,

Bees 11+ RS Bians S0amR) SRE0NL BATWNTS $DYE 83 MR
Deda ﬁe@%ﬁ%‘)& BHODY0R, ifaéidm’ GO&%H@Q T00iRG G0gozm, COA.

Options :

1 Dewd 1 &‘Déﬂ%ﬁ@@ II STRR DTN,

, 2ewd 1 aﬁ:@gﬂﬁwé I1 HTER émﬂﬁaﬁ.
; Re0E 1 B0 0T =T Rewd 11 3@?3{:‘3’.

. 2eod 1 3@?11:::’, S0 RewF 11 A:N3.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For a reaction of order n, the unit of the rate constant is :
Options:

. ]I'l(}ll —1 Ll—n 5_1

, smel R Rg

3 ]I'l(}ll —n LZII S_l

4 ]1'1(}11_“ Ln—l 5—]
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,000 30dod THEF (FNFY) ‘n’ 8T, Ben A0NTOTT LFRWTR) :

Options :

. mmll_" Ll—n S_]

, smel— R Rg

3 mmll —n LZn 5—1

4 II‘lDll_n Ln—l S_]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(a) NaOH ()  Acidic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
() B(OH),
(e) Al(OH),

Choose the most appropriate answer from the options given below :

Options:

;. (@)-(ii), (b)-(), (c)-(i1), (d)-(ii1), (e)-(iii)

, @-(), (b)-(ii), (c)-(iii), (d)-(1), (e)-(iii)
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Teg- 1D, T3 - 11T BEeE BRODA.

T3 - 1 g - 11
(a) NaOH (i) Sapeod
(b)  Be(OH), (i)  TIYLRE0D
() Ca(OH), (i)  eveodFaverod
(d) B(OH),
() Al(OH),

39N BoRRPY BOCRE GIT[, SO

Options :

, (@)-(ii), (b)-(), (¢)-(ii), (d)-(iid), (e)-(iii)
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statement that is INCORRECT about Ellingham diagram is :

Options :
. provides idea about reduction of metal oxide.

5 provides idea about the reaction rate.

, provides idea about free energy change.

, Pprovides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SQON'RT WSW BOTIN TTW TePFOID :

Options :

1

| 3oBod Send w7, B DERBH.

| 08 BE0HYT wHicesHoD ROD STRI.

4. = ”

Question Type : MCQ Is Question Mandatory : No

SRekeod BT WNRYR, GTIAFAD Wi YVITWOR R FH.

30DH0DY 28 ARNONYT BTN &Jri RT0kd BRTBDZ.
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Correct Marks : 4 Wrong Marks : 1

The product obtained from the electrolytic oxidation of acidified sulphate solutions, is :

Options :

, HO,S080,H

, HO,S0S0,H

HO,500S0,H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BEOR AT TRRRNY ARQIAFOL NIRRT THOWT NI :
{ Qi- e a

Options :

. HO,5050,H

, HO,S080,H

HO,500S0,H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegedunias



Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :

, Both A and R are true and R is the correct explanation of A
, Both Aand R are true but R is NOT the correct explanation of A

3 Ais true but R is false

4. Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B9 a0 Beddnda, Aedoandd : Lom FITAR AGNT W3 sEta o wEM RN
YAk A: - Ofodar mE @R KERooke BTN

BRI R Qeobas T AU MIFF 00T

0O BEYETR, MDA, B9 ABUE Bolyivd Roine WITT, SR

Options :

 ADZH RaTES 30 WS B R J ATt 700IRT Sewd oncs

, ARD RATAER [0 0 STIRF ARt FOOIRT Ievs BN,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The oxidation states of ‘P in H4P207, H4P205 and H4P206, respectively, are :
Options :

. 6, 4 and 5

5 5 4 and 3
3. 5 3 and 4

, 7, 5and 6

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

dof - = o - ;
H,P,0, H,P,0, % HP,0,m99 ‘P 3 0ogreo 3810 SN ooy -
Options:

1 6,430 5

, 5403 3

; 5,30 4
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. 7,502 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [MnC16]3", respectively,
are

Options :

. d2sp® and paramagnetic
sp°d? and diamagnetic

2.

3 sp>d® and paramagnetic

N d?sp® and diamagnetic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[MnC16]3‘ ROHRFT AOFVRD WF MR F0360D %maﬁrﬁ% Faaen Qo) :
Options :

1 d%sp® B, T,TF0SOR

, sp’d? 08 BoIPT0ZeOD

Sp’3d2 &b@i} mémﬁﬁéfm Qcollegedunias
3, e m



, d%sp® B BoITTI0ELOH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCL(NH,),|, [Ni(CO),],
[Ru(H,0),Cly] and [CoCl,(NH,),] * respectively, are :

Options :

A1, 14

, 2;0,2.2
. 21,81

L2122

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dnthtod RodterNeRd [PCL(NHy),), [Ni(CO),J, [Ru(H,0),CLy] 3 [CoCly(NH,),]*

AYY TN F0RUDT @antdol TR ﬁoaﬁﬁojw :

Options :

A1, 4

, 20,22

3. 2,121 chllegedunias



L2122

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is NOT correct ?

Options :

, The dissolved oxygen concentration below 6 ppm inhibits fish growth
5 Eutrophication indicates that water body is polluted
3 Eutrophication leads to increase in the oxygen level in water

A Eutrophication leads to anaerobic conditions

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FPNSRHNEY 0Toes BeYFOIN rémwﬁd ?
Options :

| daon sk sty 6ppm it 98 uesbre et ardommomrbigh

, © TP QB0 BOWT(ROTeL L)Y BROJTITI D, SLWIH.

; YETRYLFTLoY) ACOTY B3X® T é@ﬁm FO0 0O
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to djstinguish monosaccharide from
disaccharide ?
Options :

1. Seliwanoff’s test
, Barfoed test
3 Tollen's test

4. lodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BT ORE UmOnAE TOfoRd, SATACICETIVON MIVETVR, dmARe

eSRNRFD 9

Options:
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20O3ReBT ToeB
4. b

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :
Options :

1. Rotamers

5 Mirror images
3 Enantiomers

A Polymers

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QBTN TBDeE (2TRR) W N@ee (NA) m&mﬁmm :
Options :

| BREITDT TR

TSWOWN (SNTT® Qe %F)

2. —
TICHIND (STTACIRTTT)

mﬁaz‘%ﬁﬁ%
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@

CH,

@ O, @
CHZ e CH CH3 = CHZ HCEC

A B C D

The correct order of stability of given carbocations is :

Options:

, D>B>C>A
, A>C>B>D
, C>A>D>B

L D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®

CH,

@ ® ®
CH2 = CH CH3 = CH2 HCEC

A B C D

3RL0NT RURFRIFOIRAY A0S i3 K00RT T -

Options :
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‘D>B>C>A

—_—

, & »C>B>D
., C>A>D>B

. D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Presence of which reagent will affect the reversibility of the following reaction, and change it
to a irreversible reaction :

Reversible
Options :
1 Concentrated I—IIO3

,, HOCI
, Liquid NH,

dilute HNO,
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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BT 30hokd, ol epmusy Johod AmohrobRekd (maé;) g DomR
ARVIADIVIRWN facﬂmul CAROW IO BAAIR WA VR

h
wHohrchaeod

CHy +1h CH; -1 +HI

Options :

. L2o® HIO,

, HOCI

, OR R0 (NH,)

CDWE® HNO,
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following compounds will give orange precipitate when treated with

2 A-dinitrophenyl hydrazine ?

O
I\CH3

Options :

0
Ki:)c:Hzf::H3

2.
Qcollegedunias



OH

OCH,CHj
5 O

i

C—OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9 Roomened olmayth 24<hdtincae’ BERT dhed AeOARN 839 wepls ThealaD
AR ?

Options :
@
kcH3
1.
O
KDCH;!(::H3
2.
3.
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OH

OCH,CHj
O
i
C—OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

H-PO BH
PR A (BH;), ; P

120°C (Major Product) HyOy/ OH, H)O  (Major Product)

Consider the above reaction and idenﬁfy the Product P :
Options:

CH; OH

Qcollegedumas
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i ~OH
3.
OH
f LOH
4,
Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H3PO4 A (BH3)2 > P
e (@m0 o3 HO/OH HO  (zann) v

0T $eDODR, ARA 3 eI, P’ oba, TR,

Options :

CH; OH

Qcollegeduma



CH;
OH

OH

OH

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I:  Aniline is less basic than acetamide.

Statement I :  In aniline, the lone pair of electrons on nitrogen atom is delocalised over
benzene ring due to resonance and hence less available to a proton.

Choose the most appropriate option :

Options:

1 Both statement I and statement II are true.

, Both statement I and statement II are false.

Qcollegedumas
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3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B Q0 TSV, ABORNT,
Beedl: GDIT, GARRENOT TR RN

e Il SAgrad, HianT SOIRIAT SRON SURIY dhaxBaty doste eoro)

CavstoRinfik leloAe &Jm@&eﬁdmrﬁm%ﬁ@ D3 IotRa e o
RoEnI,

08RG 603%033?53& #03,

Options :

1 %ﬁ@%lma} BeF I ATER AN,
, %e@%laﬂa@g R0 Il TER :eﬁmwﬁa}“.
; eI B0 9l STC Bewd II@@ﬁd.

, 2ewd 1 éqﬁd SE0 Beed I1 50 3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - II :
List - I List - II
(Drug) (Class of Drug)

(a) Furacin ()  Antibiotic

(b) Arsphenamine (ii) Tranquilizers

(c) Dimetone (i11) Antiseptic

(d) Valium (iv) Synthetic antihistamines

Choose the most appropriate match :

Options :

;. (@)(iii), (b)-(1), (c)-(v), (d)-(ii)
o @-(1), (b)-(iii), (c)-(iv), (d)-(i1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)
5, (@)-(id), (b)-(iv), (0)-(i1), (d)-(1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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E.'.‘Eé.é- I ':_‘bq ﬁ&é- IIT Xe8 BRODA.

Eﬁéﬁ -1

B=3)
(a) TR
(b) ©RFHeRHT
() TBdiiees
(d) BeDodsr

BRODE TOCIRBH W, BOA.

Options :

;. (@)-(iii), (b)-(1), (0)-(v), (d)-(ii)
,, @)-(1), (b)-(ii), (c)-(iv), (d)-(i1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

;. (@)-(iid), (b)-(iv), (¢)-(i1), (d)-(1)

aﬁég -1I

BaEs a5/553)

b AN

ININLPL®

DRETIT

SOSPOAT B,088% TR

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The compound ‘A’ is a complementary base of in DNA strands.
Options:
1. Guanine

, Adenine

3 Cymaine

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0
H,C ‘ N :
T/J%
H
(A)
Roowg ‘Ao $9NF o DNAmOFHY 5408 TG,

Options :

Qcollegedumas
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Chemistry Section B

Section Id :
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Number of Questions :
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Enable Mark as Answered Mark for Review and

Clear Response:
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The density of NaOH solution s 1.2 g cm ™. The molality of this solution is
(Round off to the Nearest Integer|

[Use : Atomic masses: Na:230u O0:160u H:1.0u
Density of H,0: 1.0 g em™]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

NaOH mgtod moddon 12 g em 2 6id. 8 mgns decedody m,

[vaoseena : H0RR 0odned :Na: 230w 0:160u H:10u
60T OTI 1 1.0gem ™

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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¥
The difference between bond orders of CO and NO® is ) where x= . (Round

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— A\7, TG0 1= .

| =

coma) NOD 19 wop s(ede)e 3R S

(RETT TRTFO0F)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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For water at 100°C and 1 bar,

Avap H- Avap U= X1 J mol~L (Round off to the Nearest Integer)
[Use : R=831] mol 'K~ ]]

[Assume volume of HyO(l) is much smaller than volume of H,0(g). Assume H,0(g) can be
treated as an ideal gas|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
100°C ) 1 ¢Raag Aedron

A Hobyy U= X10° Jmol™., (Ridexcs Tammorod)

[volaena : R=831 [ mol 1K)

[H,0() 2 H0(g) mgi 2RedTR R0 zﬂﬁﬁmﬂcﬁ 0T ewhd, H0(g) &, 8a8F
AR NEAAEY

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Qcollegedumas
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242%107 bar,

The molar mass of the biopolymer i x10* g mol ™!, (Round off to the Nearest

Integer)
[Use : R=0.083 L bar mol~1 K~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

146 s, 208 waosa, 00K 3G 100 ml 0 QOFRROAT. Rom AT
L3 242107 o) evokRrbaH

B8 WTNIE AALOR0T OO X104 g mol ™1, (RebeE TRmFo8)

59 : R=0083 Lewo alweer ' K]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

Qcollegedunias



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCs = PCL+Cl, K =184

3.0 moles of PCls 1s mtroduced ina 1 L closed reaction vessel at 380 K. The number of moles
of PCl; at equilibriumis  X10~ 3, (Round off to the Nearest Integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCls = PCL+ClL, K =1.844

B0K 391 sotmamdond 3.0 Seeenem PCly &, Hod. Amdoeodnds PCl

BRCNY KoLB0M X103, (Re0eTm TemF08)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Qcollegedumag
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The conductivity of a weak acid HA of concentration 0,001 mol L™ is 20x10™Sem ™, If

A{;n(HA):1908(:1‘112 mol™!, the ionization constant (K,) of HA is equal to

X108, (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.001 mol L~1 #%) dhwro sy HA ot 201077 S em ™! %) 3888 @000,

Ay (HA) =190 S e mol 53, HA S woimdestn dodmosy) (K)f Admma
@ il

X107, (Rene@d emaroF)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Qcollegedumag
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CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.
The value of n in the Freundlich isotherm equation is x10~2 (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
CO,©00) ForIF wRdneRm TMPA0N0E ADIT ed LRIRATHIMFR. LOW

.J
Q92 Tamees 9L Ded, CO, AT wIRIW, OMENATATT, SHARRRMI (0N
mb0d0 64 TROD (Tbeh). Forde sheeis Fdma Ra3ndod nd dPoF

,_J
x1072 (RneTn &

AFOFOT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in
' ‘ : lleged
trioxalatochromate (IIT) is Y. Then the value of X+Y is . Qﬁ&ﬁ%ﬁ@i‘ﬂi



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e Awoniny Rosdom & b drincdoeRes ()Y X abe i
) Y Y BT

()3 Y somuchiy. mmEs X+Y8 IRoF .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In gaseous triethyl amine the “-C-N-C-" bond angle is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

degree.
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0
GAUUATT & 950 ST “-C-N-C-"wog $aeay &N, 8N,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 g of chlorine.
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the
Nearest Integer)

(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Qcollegedumas
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Correct Marks : 4 Wrong Marks : 0

WO RREIONE AOOERA, 5.0g8RCOTTIR, AACIALNA BROVEETT LUHlA A00DDE A
0, TACDHERNGS (300D GRRTY) 0.5 Rookng Aoty AgNO; eolit séF A, 9mbod
03849 s AgCl SEobeRT, HoonE A Q03 Idmmd dpeoT
(ReNTT TRTRF08)

(Agaba (13 TR o8 10787 553 355 3 )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A
SectionId: 864351828
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511055
Question Shuffling Allowed : Yes
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes
through origin O. 1f OC is perpendicular to both the line segments CP and CQ), then the
set{P, Q} is equal to :

Options :

 {(2+242, 3+ 45), (2-2V2, 3 - 5))

, (2 +242,3-45), (2-242, 3 +5)]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

womh F3EY PabE) Qo SOm 97 Lomnwd. ¢ I3 seody C(2,3)a0m,
33 Awotom 0F Bwed FTRMES. OC ot CP 3 CQ a0 vEs
Jeamodnon vowmAE, Tmad (P, Q) s :

Options :

1. {(2+242,3 +5), (2-22, 3 - \5)]

, {(2+242,3-5), (2-242, 3+ 5))

{(—=1,5), G, 1)}

Qcollegedumas
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, 1,0, 0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

—¥ A A = A A A
leta=1i+j+2kand b =—-i +2j +3k. Then the vector product

(;+§)x ((;x ((;—g)x g))x E) is equal to :

Options :
A A A
: I\ —Bf + 7k

s M Y
5 05 =857k

P M M
, 5(34i —5) +3k
A At M,
. ?(34:‘ ~5j +3k)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_>

M M A — M M M
a=1i+j+2k®®R b =-i +2j +3k SNT) A0 rbswz.é

(:+;)x((:x((:—ﬁ)xg))x;)ﬁ 23303 :

Options:
P Qcollegedumas



s M M
I\ —Bf + 7k

A, At M,
, ?(30:‘ —5j +7k

A A A
a3 —JF +ak

A At M,
?(34:‘ ~5j +3k)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of 1 in (xz - bi] and 177 in [x - bl—z] ,b# 0, are equal, then the
. X X

value of b is equal to :

Options :
1. 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qﬁﬁ!!ﬁ%fﬂﬂﬂlﬁf



1 1
2097, [x2+bi] 303,73 Ransy 39 (xb—lz] 508 v 3 FEnniy
X < | "

abmngd, bob tda
Options :
1. = 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

< )

R=(¢ykmm&b&ﬂ£y£2ﬂ%
is, a(log,2) " +p(log,2) +7, then the value of (a+p~ 2v)? is equal to :

Options :
1.1

Qcollegedumas
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Question Typ

Correct Mark

R =4(x, y): max{0, log ¥} < y < 27,

e : MCQ Is Question Mandatory : No

s :4Wrong Marks : 1

< g

.
)

Q0u G J0008 §e3P0% aflog,) ! +B(log2) +y5TS (a+B-29)28 diddod -

Options :
1.1

Question Typ

Correct Mark

Let A=

-14

equal to:

Options :
1. 2

2. 4

e : MCQ Is Question Mandatory : No

s :4 Wrong Marks : 1

2 .
}.IfA‘1=M+BA4aJBeR,Iisa2x2hknmynmhm,mmlﬂa—ﬁ)m

Qcollegedumas
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w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12 |
A=L J, A7l=l+A, o f e RD3) [aowm 2x2 TR IR FIRTT
Ya-p)T o :
Options:

1. 2

2. 4

w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point P(-1, 1) to the circle 2%+ P-2- oy+6=0. If
these tangents touch the circle at points A and B, and if D is a point on the circle such that
length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options :
1. 2

, 4 A collegedunia



5 (3v2 +2)

. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P(-1,1) Qo 2OmIROT x+y2-2-6y+6=0200 HFE 20 TTFIMGHIOL &
NOER KIFED HIIW, A S BRI 1orad. wo d¢ FFH ded Daow
PEbIHY WRRET Wy AB e AD Soary o ALTNHSTS, AABD &b
fegpug -

Options :
1. 2

2.4
, (3V2 +2)

. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumas
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Let C be the set of all complex numbers. Let

S,={z e C| |z—3-2i*=8},

S,={z e C| Re(z) =5} and

S,={zeC||z—-Z|=8}.

Then the number of elements in S; NS, N S; is equal to :

Options :
1. 0

.. Infinite

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
C Q00T Bodesds ﬁoaﬁéﬁ%ﬂ’ NE9e5oN3s.

S,={z e C||z—3-2i?=8},
S,={z € C| Re(z) =5} &

S,={zeC| |z —Z| =8} 13

S; NS, N S; TP Nrse0sne oy,

Options :
1. 0

Qcollegedumas
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3 2

4, R0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (-1, 0, —2) and perpendicular to each of the planes
2t+y-z=2and x-y-2=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to:

Options :
1. 5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1,0, -2) D0RAT RROF TTREI RNE) 2r+y-z=2 WA x-y-2=3 200
TMTONOR QONMNTT FNIOT AT ax+by+cz+8=0&TT a+b+c o
3dodn :

Options :

1.9

Qcollegedumas
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let , B be two roots of the equation x* + (20)

Options:

, 100

> 10

3 50

4 160

e f—

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s |—
23—

o DB AR T+ () x4 ()2 =

Options :
, 100

> 10

3 20

0 00 A0S Avenend of + i Wi :

1
Y+ (5)2 =0.Then o® + p*is equal to:

Qcollegedumag
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: (—E; EJ — R be defined as

3a
|sinz|

(1+|siny) ,-=<x<0

flx)=" b ,x=0

b v e T
emt—h/mth i< y¢ =

I

If fis continuous at x =0, then the value of 6a +b? is equal to :

Options:
1 1+e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumas
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f: (—E EJ - R oouomm,

3a

|sina

(1+ |sinx) ,—E{x{[]
flx)=" b pE=] DO TWINIIOYT,

™
oot/ cot2y N<ié X

7

=020 RORAFY f R0 WABZTETY 6a+b* 3 Lo :

Options :
1 1+e

2. 1_e

. €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 22+ 2y2-2x -2y =1},

B={(x, y) e RXR | 4x*>+4y>—16y+7=0} and

C={(x, y) e RXR | X2+ —dx—2y+5 < 12},

Then the minimum value of |r| such that A u B ¢ Cis equal to :

Options :

1. Qcollegedunias



B deind 10

, 1++/5

2 4-J10

3 +245

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A={(x, y) e RXR | 222+ 2y>—2x -2y =1},
B={(x, y) e RXR | &x2+4y2—16y+7=0} DI
C={(x, y) e RXR | x>+y?>—4x -2y +5 < r?}.
AUBcCoNm [r| 3 825 &S

Options :

B 4 10
1, 2

L 1445

2 4-J10
3. 2

Qcollegedumas
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3 4245

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the mean and variance of the following data :

G, 1), 7,13, a,12, b, 12

are 9 and = respectively, then (a—b)? is equal to :

Options:
1. 16

2. 12
3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

!

6,10,7,13,2,12, b, 12 Cﬁ%d@&' ROOR0 308 ARTDFNE Fabeden 93 % 30, (a—b)>o

Beodn :
Options:
1. 16

2 12

Qcollegedumas
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3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, {d_v} =3y + 4y, with y(0)=0.
X

2
If y[- 5 lOgQQJ = a log,2, then the value of « is equal to :

Options :
1

. 4

e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumag
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



y=1/(x) 0T log [%} =3 44y 200 GHICY ADE0RT TN, y(0) =0,

. .
y(- 3 log@} =olog,2 s o B0 :

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If sinf + cost = X then 16(sin(26) + cos(468) + sin(66)) is equal to :

Options:
1. 23

3 27

4. — 2 chllegedunias



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1 .
sinf + cos = 5 SR 16(sin(20) + cos(46) +sin(66)) & L3S0 :

Options :
1. 23

2. =23
3, 27

4. —27

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is

a multiple of 3} is equal to

Options :
1

1. 2

N
LI | =

WM

Qcollegedumas
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O | =

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
oRamn GohIRADE 2 sotod Aoaol fneN:(2'-2) 7 3003 ey Ros
o3RAT] 20w me% %00 Rogi@aeoRdom :
Options :
1

. 2

N
W M QI | =

O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be ;
Options :
. 2x—7y—39=0 or 2x—-7y—7=0

11x+?y+8=0 or 11x+?y—15=0
2.
3 2x—?y+29=0 or 2x—?y—?=0

11x—?’y—8=0 or 11x+?y+15=0
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WO WY Deadody (2, 1) ROTAT TAVE MIBAN, 17T HedNT P LOTNIY

TOPOTIN, BROR, 7030 (5, 3) LoMAT 0T WRBRNS. B TPOZ deson
1
WEROTE 5 s et 92 Gesdotmicsy e 8 DHZ Jesdoloor Rneaas

i 0 Tl % oM a0 A4y Sesod AT

Options :

. 2x—7y—39=0 ©xX0 2x—7y—-7=0

Qcollegedumas
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, x+7y+8=0 ©xx0 1lx+7y-15=0

, 2x=7y+29=0 WP 2x—7y—7=0

, 11x=7y—8=0 O 1lx+7y+15=0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The compound statement (P v Q) A (~P) = Q is equivalent to :

Options :

| ~(P=Q)

ZP;\*‘Q

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

PvQ) A (~P)= Q0w Bookns Hevd (208)od ITFFE)

Options :

, ~(P=Q)

Z'PA""‘Q

Qcollegedumas
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f: R - R be a function such that f(2)=4 and f'(2)=1. Then, the value of

20N 4f(x
lim *f(2) ~ 4f(x) is equal to:
=2 y=1

Options :
1. 4

2. 8

3 12

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f:R-Raow WIRT =4 D% f()=160d. mos im 210~ 4100 -

12 r=1

O
Options :
1. 4

Qcollegeduma
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3. 12

4. 16

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

.1 & (2j—1)+8n
lim =
The value of Im Z (27 —1) +4n

is equal to :

Options :

3
B ] =
1. Dge[zJ

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegedumag
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n .
ljmlz (2} 1)+8nc
(2j—1) +4n

Options :

3
a4l —
oge|3)
3
142 ) —
oge|3)

2
2 —log, [—)
3. 3

3+ 2log, [%)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

Jr
[
_{1[(1 + e%05%) (gin*x + costx)
is equal to :
Options:
1%

. 242

o 238303

Qcollegedumas
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i dx

J

_ Ji(l + %%5%y (ginty + cos

T ) QO &ﬁ?% BTOT B30
X

Options :

Qcollegedumas
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Mathematics Section B

Section Id : 864351829
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511056
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the point (3, 7, —7) and contain the line,

=2 y-3 2+
-3 2

. 1f distance of the plane P from the origin is d, then d? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Qcollegedumag
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1=2 _y-3 %2
-3 2 1

Paow AHBOF (3,7, -7) Q0w NOWMIAT DAVT TRENT

oot Geedodd L9eofd. Wav BotkaRen PRabdottha tedd) d sd d* ddod
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sinz:r -2 + coszx Ccos 2x
Let f(x)= |2 +sin’x  cos®x cos2x |, x € [0, 7].
sirnzx ccsszx 1+ cos2x

Then the maximum value of f(x) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

Qcollegeduniag



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sirlzx -2+ coszx Cos2x
vel0,m] ampn f(x) =2+ sin’x  cos*x cos2x |, x €[0, 7].
si112x coszx 14 cos2x

o3 f(r) 3 10% wdody

Response Type : Numeric
Evaluation Required For SA : Yes
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Let F: [3 5] - R be a twice differentiable function on (3, 5) such that

Fr)=¢™ E(:%tz 42+ 4F (gt

B -
ue—z, then a+p 1S equal to .

If Fi4)=
@ -4
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F2[3,5] - Raow ) A8, 0088, (,5) Gosmect(m, Fy)=e ' j;'(?,t? £ 2t +4F(O)d

p
oo et =24 I
o3, Fd)= —— smnatpd IS
B2
€ -4)
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~ AA A = - A A e e
Let a=i+j+k band ¢ =j-k be three vectors such that 3 x b = ¢ and

5 - - - -
a * b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is/, then

the value of 3/ is equal to
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=N A A

A - A 5 9 9 sl =/
a=1+]+k b Wwa c=j-ka0w R ARITRN a x b=c DN ab=1
K = 3 1 W i
SIID. a X ¢ 20w ANIHR, STIBEOIRN 18T ROUORATO? 45" 3ACITY) SNATRR

_>
w208 ded b aow 0T wowErad Tiw K09 gy | enags, I 3
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Let the domain of the function

f(x) =logy (lﬂgs(lﬂgs (18x — 2% - 77))) be (a, b).

Then the value of the integral

J;b sin® x Py
(sin’x + sin®(a + b — x))

is equal to
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f(x) =log, (1085(1083(18«‘f —gi 77))) 03T 863 (a, b) €TF SR

25

A B

a (sin’x +sin’@@a+ b-x) © B
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, 7
Hb&lb&@“ﬁ}b&p?-E]mﬁnmaﬂhm&pmg%%mﬁMnmeWMedxﬁ
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QOLRFTE AAROZT IERODYTT x3 GO
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log,2, log,(2*-5), logs [2’* ~5
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For real numbers « and B, consider the following system of linear equations :
xty-z=2, x+2y+oz=1, 20-y+z=4
If the system has infinite solutions, then a+p is equal to
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o, TS WD ROLNTOTRN, Tea AVCTOLNY mag@ BYBOR0S.
o

xty-z=2, x+2y+az=1, 2x-y+z=p.
% YR ©T08 JOTOBD, BR0OTT, a+p T LBSok0 :
& 2 O
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Let5={1,2,3,4,5,6,7). Then the number of possible functions f: S — S such that

f{mn) =f(m)f(n) for every m,n e Sand m-ne Sis equal to
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5={1,2,3,4567 %y mneSH mneSTWA flmn)=f(m){n) &[5
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It y=y(x), y{of %] is the solution of the differential equation

secy% - sin(x +y) = sin(x - y) = 0, with (0) =0, then Sy’(gj is equal to .
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y=ylx), Y€ {Of g] IOV A secy% - sin(x + ) = sinfx - ) = 0 A0V EWELT AaDEFTT

HOTTNGR, 1(0)=067d,  @mad Sy’(i] AIRAGIOW
L 2
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Let f: [0, 3] - R be defined by

flo)=minfr=t], 1+[] -
where [x] is the greatest integer less than or equal fo 1.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in

P and Q is equal to .
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[1] o ritm@ TLATRF 08 <x SN
f:10,3] » Raow wegaied
f(x)=minfx- [x], 4[] -1} Q0% mééfqﬁ?d%d
Paouncd, f Gadgmngts agg e [0, 3]n¢ TROTRNG. QoW f AZFNGT e (0,3)
o, TmEs Pabd Q 3Pt Ltk mmeosrnd dedy .
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